
Project Location
Project Location

03/01/2021

03/17/2021



03/01/2021

03/17/2021



General 
Contractors

Parking

Building Entrance

03/01/2021

03/17/2021



03/01/2021

03/17/2021



03/01/2021

03/17/2021



03/01/2021

03/17/2021



03/01/2021

03/17/2021



214

3

4"

362S137-33 COLD

FORMED STUD

SECTION AT 32" O.C.

EXISTING COLD FORMED

WALL STUDS

COLD FORMED BOX

BEAM SECTION PER

PLAN

COLD FORMED TRACK

TOP AND BOTTOM

COLD FORMED

TRACK

(3) #10 SCREWS AT

CONNECTIONS

TYPICAL

#10 SCREWS AT 12"

O.C.

3 1/2"

4
"

SIMPSON SHH 6/54

BOTH SIDES OF

COLUMN

COLD FORMED BOX BEAM

SECTION PER PLAN

COLD FORMED BOX

COLUMN SECTION

PER PLAN

COLD FORMED BOX

COLUMN SECTION

PER PLAN

SECTION A

3 1/2"

COLD FORMED FULL HEIGHT

STUD DIRECTLY ADJACENT

TO COLUMN, MATCH

EXISTING COLUMN WIDTH

EXISTING WALL

MEMBER

FULL HEIGHT STUD

COLD FORMED BOX

BEAM SECTION PER

PLAN

SIMPSON LGUM28-2 FOR

MASONRY CONNECTIONS,

PROVIDE CONCEALED FLANGE

SIMPSON 3/8" x 3" TITEN HD ANCHORS

INTO FULLY GROUTED CELLS, WHERE

NOT GROUTED BREAK OUT FACE

SHELL AND FULLY GROUT ALL CELLS

WHERE ANCHORS ARE PLACED

362S137-33 COLD FORMED

STUD SECTION AT 32" O.C.

BEND WEB AND ATTACH (2) 1/4" DIA.

TITEN 2 MASONRY SCREWS MIN.

362S137-33 COLD FORMED

STUD SECTION AT 32" O.C.

BEND WEB AND ATTACH (2) 1/4" DIA.

TITEN 2 MASONRY SCREWS MIN.

EXISTING MASONRY WALL

COLD FORMED BOX

BEAM SECTION PER

PLAN

EXISTING WALL

CONCEALED

FLANGE HANGER

#14 SCREWS, FILL

ALL HOLES ONE SIDE

3"x3"x16 GA. CLIP ANGLE

1/2" LESS THAN STUD

WIDTH, ATTACH TO JAMB

AND RUNNER TRACK

USING (4) #10-16 SCREWS

HEADER ATTACHMENT NOT

SHOWN SEE DETAIL 3/S100

FULL HEIGHT STUD

DIRECTLY ADJACENT TO

COLUMN TO MATCH

EXISTING WALL WIDTH

COLUMN PER PLAN

TWO MEMBER

HEADER PER PLAN

RUNNER TRACK

ATTACHED TO HEADER

USING (2) SCREWS AT

16" O.C.

COLUMN PER PLAN

FULL HEIGHT STUD,

MATCH EXISTING WALL

WIDTH

SCREW ATTACH

COLUMN MEMBERS

USING (2) #10-16

SCREWS AT 16" O.C.

1"

1"1"

1"

1"

1 1/2"

3"x3"x16 GA. CLIP ANGLE 1" LESS

THAN STUD WIDTH, ATTACH TO

COLUMN USING (4) #10-16

SCREWS, ATTACH TO SLAB USING

(2) 0.145" DIA. POWDER ACTUATED

FASTENER x 1 1/4" LONG

RUNNER TRACK

#10-16 SCREWS

EACH FLANGE

COLUMN CONNECTED

USING FULL HEIGHT

RUNNER TRACK

2020-0-020
21216150

p&a architects

DFCM PROJECT NO:

January 27th, 2021

 Construction Documents

REVISIONS:

DESCRIPTION

ISSUE DATE:

ISSUE TYPE:

MARK DATE

BM
KD

DRAWN BY:
CAD DWG FILE:

P&A PROJECT NO:

COPYRIGHT:
CHK'D BY:

SHEET TITLE:

SHEET NUMBER:

REVIEW STAMP: 

AGENCY: 

State of Utah
Department of Administrative Services

Division of Facilities

Internet:  http://www.dfcm.state.ut.us

Construction & Management
4110 State Office Building
Salt Lake City, Utah 84114
Phone: (801)  538 - 3018
Fax: (801) 538 - 3267

CREATED BY:  p&a architects

CONSULTANT: 

PROJECT TITLE:

First Judicial
District Courts

43 North Main Street
Brigham City
Utah 84302

Court Room
Expansion

6 5 4 3 2 1

E

D

C

B

A

6 5 4 3 2 1

E

D

C

B

A

6 5 4 3 2 16 5 4 3 2 1

S100

FRAMING

PLAN

1

 LEVEL TWO CEILING FRAMING

SCALE: 1/4"=1'-0"

2

DETAIL

SCALE: 1 1/2"=1'-0"

3

DETAIL

SCALE: 1 1/2"=1'-0"

4

DETAIL

SCALE: 1 1/2"=1'-0"

5

SCALE: 1 1/2"=1'-0"

6

SCALE: 1 1/2"=1'-0"

7

SCALE: 1 1/2"=1'-0"

DETAILDETAIL

DETAIL

STRUCTURAL KEY NOTES#

1. (2) 1200S200-68 COLD FORMED BUILT-UP BOXED BEAM, SEE

DETAIL 2/S100 AND PROVIDE 400T162-43 MIN. TRACK TOP AND

BOTTOM

2. (2) 400S162-54 COLD FORMED BUILT-UP BOXED COLUMN, SEE

DETAIL 3/S100 AND 8/S100 AT BEAM CONNECTION TO COLUMN,

SEE DETAIL 9/S100 AT BASE

3. COLD FORMED BRACING AT 48" O.C., SEE DETAILS 2/S100, 5/S100

AND 6/S100 FOR CONNECTION TO WALLS

4. FOR BEAM CONNECTION TO WALL SEE DETAIL 4/S100

STRUCTURAL KEY NOTES

2

S100

5/6

S100

7

S100

A

COLD FORM STEEL PRODUCT NOTES

THE FIRST SET OF NUMBERS INDICATES THE MEMBER DEPTH IN 1/100 INCHES

THE NEXT LETTER INDICATES THE PRIMARY FUNCTION:

S = STUD OF JOIST SECTION

T = TRACK SECTION

U = CHANNEL SECTION

F = FURRING CHANNEL SECTION

THE SECOND SET OF NUMBERS INDICATES THE FLANGE WIDTH IN 1/100 INCHES

THE LAST TWO NUMBERS INDICATE THE GAUGE OF STEEL:

33 MIL - 20 GAUGE

43 MIL - 18 GAUGE

54 MIL - 16 GAUGE

68 MIL - 14 GAUGE

97 MIL - 12 GAUGE

118 MIL - 10 GAUGE

STUDS

ENDS OF STUDS SHOULD SEAT FIRMLY IN RUNNER TRACK WHICH MUST HAVE FULL BEARING

ON STRUCTURE.

ATTACH EACH RUNNER TRACK LEG TO EACH STUD FLANGE WITH ONE (1) #10-16 SCREW, 5/8'

LONG.

NO NOTCHING OR COPING OF STUDS IS ALLOWED.

ALL BRACING SHALL BE INSTALLED AT THE TIME THE WALL IS ERECTED.  FAILURE TO INSTALL

BRACING AT THIS TIME MAY COMPROMISE THE STRUCTURAL INTEGRITY OF THE BUILDING.

LATERAL BRACING SHALL BE PROVIDED @ 4'-0" O.C. (MAX.) FOR ALL LOAD BEARING WALLS.

BRACING SHALL BE PROVIDED FOR JOISTS @ 8'-0" O.C. (MAX.).

ATTACHMENTS

USE #10-16, 5/8" LONG, LOW PROFILE HEAD SCREWS FOR ALL STEEL TO STEEL

CONNECTIONS EXCEPT AS NOTED ON PLANS AND DETAILS.

A ¾" (MINIMUM) CLEARANCE MUST BE MAINTAINED FROM ALL EDGES OF THE STEEL

MEMBERS IN LOCATING SCREWS.  A ¾" (MINIMUM) ON CENTER SPACING MUST BE

MAINTAINED BETWEEN ADJACENT SCREWS.

ALL SCREW RECOMMENDATIONS ARE BASED ON CCFSS TECHNICAL BULLETIN VOL. 2, NO. 1

WHICH OUTLINES THE PROPOSED AISI SPECIFICATION PROVISIONS FOR SCREW

CONNECTIONS

FOR ATTACHMENT OF SINGLE - LAYER ½" OR 5/8" GYPSUM BOARD OR SHEATHING TO STEEL

STUDS AND JOISTS, USE #10 - 16 SCREWS, 1" LONG BUGLE HEAD SCREWS.

WELDING PROCEDURE TO BE IN ACCORDANCE WITH AWS D1.3 - 81.  USE 1/8" E60XX

ELECTRODE MINIMUM.  MINIMUM WELD THROAT THICKNESS (T) MUST MATCH OR EXCEED

THE THICKNESS OF THE THINNEST CONNECTED SHEET.

IN WELDING, THE ZINC COATING ON STEEL FRAMING WILL BE BURNED AWAY; THEREFORE, A

ZINC RICH PAINT MUST BE APPLIED TO THE WELD AREA TO PROVIDE CORROSION

RESISTANCE.

MISCELLANEOUS

ALL CONNECTIONS SHALL BE COMPLETE AS PER THE PLANS AT THE TIME OF INSTALLATION.

FAILURE TO PROMPTLY COMPLETE CONNECTIONS MAY COMPROMISE THE STRUCTURAL

INTEGRITY OF THE SYSTEM.

SPLICING OF RUNNER TRACK TO BE ACCOMPLISHED BY SCREW ATTACHMENT OF A STUD

SECTION BETWEEN VERTICAL STUDS TO THE RUNNER TRACK USING #10 - 16 SCREWS, 5/8"

LONG LOW PROFILE SCREWS.

8

SCALE: 1 1/2"=1'-0"

9

SCALE: 1 1/2"=1'-0"

DETAILDETAIL

9 5  W E S T  1 0 0  S O U T H ,  S T E .  1 1 5 ,  L O G A N ,  U T  8 4 3 2 1

PH: 435.227.0333                                                   FAX: 435.227.0334

3/1/2021

03/17/2021


